Electric Drives Linear Motion and Service Rexroth
Bosch Group

and Controls Assembly Technologies Pneumatics

PiA B LEEN - Ei&4519 DDL

%JI;}ETEFE.‘:, EELEH) DDL, V-i%
;

=T




2 Bosch Rexroth AG | Pneumatics

PUHEEER Y - iR DDL

#hFetEream, &4 DDL, V-irit

iE3E NS

R
> IK

isWi%E (DDL) |, V-igit
EhzR

&

Bt

ERERY, 25 CN2
%ﬁ DDL-E45 » {HEE (B3k), M12x1, 5-8F, A-ZRE5 » $E3k (23k), M12x1, 5-8F, A-4RE5 » B

M12x1 #EPE (B:3%), B&5 CN2
> R, M12x1, 4-8f, A-4R#3

Bitrs
> M12x1

R REESL (23%), 5 CN2
> ZiHESL, M12x1, 5-8f, A-4RH5

el

HEFIRRR MRS MEE PO S EREAMER, #EERE LMY E
SEHER-BF, ELPDF, #IETF 2011-10-28, © Bosch Rexroth AG, {REEHALF



Bosch Rexroth AG | Pneumatics 3
5D kiEEY - EiELEHg DDL
EECHFEE (DDL) |, V-igit
> JEzhEs
MERE S/IME/ERKE +5°C/ +50°C
PP &SR, HiEsk IP 65
HFRBENITIERE 24V DC
HFRBENRTEE 0,03A
1R TIERE 24V DC
IRkt e 32
SRR SRR 3A
= AIEZEH (DDL) 40 m
DDL-85&EMRA#E 14
VTS 0 RIEE
DIN 41612/IEC 603-2 (Form C/2)
wak:
5hes S-SR
LM~ R SEEARR.
BAMEE
B O VEZNERRKXLA
m ERITEREFMPERZTRNEEREE, 3B ZEHHERBosch Rexroth$g &by,
ZiREED BUS INX71|  3%#iEO BUS OUTX72 B AR IR {EHFM EE ER =@t
X10
FENMEERBIED
[kal
sk (B3k), M12,5-8F |  #REE (B3k), M12, 5-8F ‘i@ REOE 1987765499 0,663 Fig. 1| 1827030189
Fisk (AS), M12,5-8t| R (Bsk), M12, 5.8t Tk (B3), M12A_4§;g 1987765499 0,675 Fig.2| 1827030190
Fig. 1
454
@ & @ @) x71
al g @
© X72
m L~
N v |
© @
@ o
©
D
L/
® ®
60 .50
539
HFEEFE S

ATV RS NERRN O ERRMTER, FAERIELEYE
SHER-BF, T%PDF, #IEF 2011-10-28, © Bosch Rexroth AG, 1R ES4LF|




Bosch Rexroth AG | Pneumatics

4
W5 RekEREY - ERESH DDL

E#EICHXE (DDL) , V-iRit

> IRzh2E
Fig. 2
454
] & @ @) _x71
7
3 @
©
| A X2
] | . ©
=2 ®
=)
©
~ P X10
'\D ’//r
® ®
60 50
(82,6) 53,9
00112394
IR

HAEFIRIRNMREE N ERM RO CERAER, FMERIE RS
SFER-BF, ELPDF, $IETF 2011-10-28, © Bosch Rexroth AG, R EB4HF



Bosch Rexroth AG | Pneumatics 5
Wi B &ERY - &R DDL
EEREY, R7 CN2
» DDL-B245 » $BEE (Bsk), M12x1, 5-8t, A-4RT5 » 3L (2 3L), M12x1, 5-8t, A-%RED » Rk
MERE s/ME/ERKE -25°C / +80°C
Vik7ake 271 IP 67
45| & B 180°
E88m 0,34 mm2
sk
= BaEE
SEHE me
a2 R
S&me 2@
BAMEE
n HEMRPERRERTERERERE.
HSEO HEBRE Hift, BX{E EHYRKE L ERADB
[EO1] [#0O2] [V DC] [V AC] [A] [m]
HBEE (Bk), M12x1,| sk (23K), M12x1,
5.5t AT 5 8 AR 36 30 4 0,3 8946054662
fBEE (BEsk), M12x1, | #Esk (23), M12x1,
5.5t A 5l AL 36 30 4 1 8946054682
B (Bsk), M12x1,| sk (23K), M12x1,
5-8f, A-4HD 5-8f, A4S a6 30 4 2 8946054692
KRR (B3k), M12x1, | $Esk (23K), M12x1,
5-8f, A-4Hd 5-8f, A- 45 36 30 4 5 8946054702
HBEE (B3k), M12x1,| #&k (&%), M12x1,
5.5, A-GFG 55 AR 36 30 4 10 8946054712
Mg
5 5
1 4 4 1
2. 3 3 2
s
L= mYgKE

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-28, © Bosch Rexroth AG, %88 & B4ALFH




6

Wi &EEN - EiE55H9 DDL

Bosch Rexroth AG | Pneumatics

M12x1 $&HEE (Bk), %31 CN2

» 3HEE, M12x1, 4-§F, A-4R%8

b

MERE S/IME/&EKE
BrirELR

wt:
=

=H

-25°C/+90°C
IP 67

BEEEPIRE
@ (Ax) BE (FKM)

BAMEE

n HENRPERRERTEREMEENKTE,

WEHE| B BkE BAE|% | TEEMENNE ShETERE EE EE R
INBXEB
AC
V] [A] [mm] [kg]
H%k 180° 0,028 Fig. 1 8941054324
240 4 E290° = 478 RE 0,027 Fig. 2 8941054424
Fig. 1
52,5 1
| |
[T 4
7 = - — 2
| il B
A |
= =2
o (qV]
§| S %
Fig. 2
3
\ 2
Q 4
J— o=l
To) 1
A N~
AV AN
2 & *
Q =
SW19

00129355

HEFIRARNM SRS MEER O SEENER, FHRERIFLMYE

SHER-BEF, ELPDF, $IETF 2011-10-28, © Bosch Rexroth AG, 4R E B4




p&EEN - &35 DDL

Bosch Rexroth AG | Pneumatics

BhiF s
» M12x1
1,5
v /VL
o =7 |
o ‘ ‘
00120243_1 «—>®8’5 ‘
M12x 1 {l}
614 00132349
- AR ] ns 7 = #izE
kgl [1#]
1823312001 M12x1 BB 0,001 50

MAEEIRLR RSN BRSO CERAER, ERERIENEYE
SHEH-BR, ELPDF, $IEF 2011-10-28, © Bosch Rexroth AG, %88 & B4ALFH




8 Bosch Rexroth AG | Pneumatics

Wi &EEN - EiE55H9 DDL

RiEEREL (Ak), &% CN2
> ZEL, M12x1, 5-8t, A-%R55

MERE s/ME/EKE +0°C/+60°C
BhtF &R IP 67

00129791 *A-*il. :
= B MEARES

BAMEE

n HENRPERRER TEREMEENKTE.

B4SI% ShRERE ER =0
[ka]
H: 180° BE 0,011 8941054264
iz
5
1 4
2 3

00128914

HEFIRRR MRS MEE PO S EREAMER, #EERE LMY E
SEHER-BF, ELPDF, #IETF 2011-10-28, © Bosch Rexroth AG, {REEHALF




Your contact:

EEEHNTR(PE)FRAT
iR

FE LigHiERAE 1S P EMRA
KEAE

#R4R: 200120

B1i%: (86-21) 3866 6000

t£H: (86-21) 3866 6111

Hit N R(PE)ERAE
EHNHEL
EBALKDBRIAE195
REMEAT I KRE#
BLi%: (852) 2262 5100
t£H: (852) 2786 0733

EEEHNTRPE)FRAT
ERARL
PEAREFREAALXKER
#®e6s

BR%R: 100176

B1iE: (86-10) 6782 7000

f£H.: (86-10) 6782 7020

EEEHNTRPE)FRAT
KERTRL

FEKET T RN XH K9S
BRTE FRKE2005%E

BR%R: 116011

BLi%: (86-411) 8368 2602
t£H: (86-411) 8368 2702

FEEHHTR(PE)FHRAE
I

AR T FF & X RS Y T
HR4%: 510663

H1i%: (86-20) 3229 9551

f£H: (86-20) 3229 9528

#itt hER(PE)FRAT
BB FR A

rh & B ER T I K 1453085
ST 1521#%B-CE

B4 610017

B1i%: (86-28) 8652 7550
f£H: (86-28) 8652 7123

it L R(EM)FRAF)
PEIIAEMNTRER A RTRE
165

HR4%: 213161

F1i%: (86-519) 8175 000

f£H: (86-519) 8175 088

Bt DT RALR)REFRAT
FEILREFHEAALXKER
%65

#R4%: 100176

F1i%: (86-10) 6782 7000

f£H: (86-10) 6782 7020

Rexroth
Bosch Group

Bosch Rexroth AG

Pneumatics

Ulmer StraRe 4

D - 30880 Laatzen

Phone +49 511 2136-0

Fax +49 511 2136-2 69
sales-pneumatics@boschrexroth.de
www.boschrexroth.com/pneumatics

LisE#hTREERBHLE
FRAF]

FE LETINEHARRERR
—pg122%

HR4R: 200131

B1i%: (86-21) 5866 3030

f£H: (86-21) 5866 5523

Lisgith+RBEERBHEH
PRAS]

AT

HE EigmEFfHOnTX SR
555

HR4%: 201206

Bi%: (86-21) 3866 6333

fEH: (86-21) 3866 6222

further contacts:
www.boschrexroth.com/addresses

The data specified above only
serve to describe the product. No
statements concerning a certain
condition or suitability for a certain
application can be derived from
our information. The information
given does not release the user
from the obligation of own judg-
ment and verification. It must be
remembered that our products
are subject to a natural process of
wear and aging.

© This document, as well as

the data, specifications and other
informations set forth in it, are the
exclusive property of Bosch Rex-
roth AG. Without their consent it
may not be reproduced or given
to third parties.

Subject to modifications.

Online-PDF
28-10-2011



	&#36830;&#25509;&#35786;&#26029;&#35013;&#32622;&#65288;DDL&#65289;, V-&#35774;&#35745;
	&#36830;&#25509;&#30005;&#32518;, &#31995;&#21015; CN2
	M12x1 &#25554;&#24231; (&#27597;&#22836;), &#31995;&#21015; CN2
	&#38450;&#25252;&#30422;
	&#25968;&#25454;&#32467;&#23614;&#25554;&#22836; (&#20844;&#22836;), &#31995;&#21015; CN2

